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BACHELOR'S DEGREE PROGRAMME 
(BDP)/CERTIFICATE PROGRAMME IN 

TEACHING OF PRIMARY SCHOOL 
MATHEMATICS (CTP1VL) 
Term-End Examination 

June, 2019 
(Application Oriented Course) 

AMT-01 : TEACHING OF PRIMARY 
SCHOOL MATHEMATICS 

Time : 3 Hours 	 Maximum Marks : 100 

(Weightage : 70%) 

Note : Question Nos. 1 is compulsory. Answer any 

eight questions out of the remaining nine 

questions. Answer to 4 marks questions 

should not be longer than 150 words. 

1, (a) Give two examples from different areas of 

mathematics of its use related to sports. 

Justify your answer. 4 

(b) "Recitation of counting, by a child does not 

mean that she can count." Explain this 

statement with the help of an example. 4 

(A-15) P. T. O. 
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(c) "Children learn by experiencing things." 

Explain this statement in the context of 

learning 'negative number'. Further, give 

an example of a word problem involving 

negative number. 	 4 

(d) What does the phrase "concrete to 

abstract" mean ? Explain this with the 

help of a detailed mean example pertaining 

to 'fraction'. 	 4 

(e) What is the difference between an open 

figure and a closed figure ? Further, give 

an example of an open figure with an axis 

of symmetry. Justify your choice of 

example. 	 4 

2. (a) List four guidelines required for planning 

a lesson. Illustrate them in the context of 

teaching 'angle'. 6 

(b) Outline an activity to help children 

understand 'place value'. 	 2 

(c) Represent 129 in the binary system. 	2 

(A-15) 
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3. (a) Outline an outdoor activity to assess how 

far a class I child has understood the 

concept of' addition. Justify your choice of 

activity. 4 

(b) Give two common misconceptions that 

children have regarding variables. Further, 

for any one of these, give a series of two 

activities to help children correct this 

misconception. 6 

4. (a) Give two reasons why children find it 

.difficult to solve word problems. 	2 

(b) Suggest an activity to develop a child's 

understanding about comparison of 

fractions. Also give an activity to assess the 

extent of her understanding. 	 4 

(c) Give an example of an algorithm for 

multiplication of two natural numbers 

which is different from the standard 

algorithm. Why is this algorithm 

mathematically correct ? 	 4 

(A-15) P. T. 0. 
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1 5. (a) Write two fractions equivalent to 5 — with 

justification. How will you pictorially show 

that all these fractions are equivalent ? 5 

(b) Using the context of teaching children 

algebra, explain the relationship of 

mathematics and language. . 5 

6. (a) Write the following decimal fractions in 

ascending order : 	 4 

0.7, 3.1, 0.25, 7.0 

Give the strategy you have used to 

compare the decimal fractions. Also 

suggest an activity to help the students 

understand the criterion used for 

comparison. 

(b) Which of the following form a part of 

mathematical thinking ? Give an example 

to justify each answer : 6 

(i) Making Connections 

(ii) Making Hypothesis 

(iii) Proving or disproving statement 

7. (a) Give a detailed activity to help students of 

class 4 realise the need for a standard unit 

for measuring time. 4 

(A-15) 
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(b) Give an example each in support of the 

following statements : 	 6 

(i) Every child is a unique individual. 

(ii) Repetition need not be boring, in the 

context of learning mathematics. 

(iii) Rules in mathematics evolve out of 

observed patterns. 

8. (a) Give the different types of situations 

requiring the operation of division. Also 

give a word problem illustrating each 

situation. 	 5 

(b) Why is it important to develop the ability 

to estimate ? Explain this, using examples 

related to the addition of fractions. 

Further, give a game to help assess how far 

children have developed their ability to 

estimate the sum of two fractions. 5 

9. (a) (i) What is the difference between 

capacity and volume ? 	 1 

(ii) Describe an activity to help a child of 

class 5 realise the difference you give 

in (i) above. 	 2 

(A-15) P. T. 0. 
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(iii) How would you modify the activity, in 

(ii) above for a group of 30 class-

5 children ? 2 

(b) Represent the following pictorially : 	3 

(i) 0.37 + 1.1 

(u) 3 — 1 7-  

(c) Give an example with justification of the 

use of deductive logic in mathematics. 	2 

10. (a) Give an example each, with justification, to 

show when the following may not help a 

child learn : 5 

(i) Using a teaching aid 

(ii) A group activity 

(b) Richa, a child of class 6, writes 

(— 3) + (— 5) = 8. What would the reasoning 

behind her solution be ? 	 2 

(c) Give a common misconception children 

have about 'area'. Also give an activity to 

help correct this misconception. 	3 

(A-15) 
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